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1) Ateenager who is 5 feet 3 inches tall casts a shadow of 7 feet 9 inches. Assuming the
teenager is standing perpendicular to the ground, what is the angle of elevation from the
end of the shadow to the top of the teenager’s head, to the nearest tenth of a degree?

2) Describe the transformation done on ARTS to form AVXIW

a. rotation around the origin 180° pal
2
, . /’ﬁ' .
b. reflection over the x-axis el
c. reflection over the y-axis w

translation ) /

3) A miangle has vertices at 4 (1. 3). B{4. 2). and C (3. 8). Which transformation would produce an image with
vertices A'(3. —1). B'(2. —4). C'(8. =3?

a.  arveflection over the xaxis ? o R ( LN 3 ( N *XB

2770°

b. areflection over the y-axis
@ a rotation 90 clockwise

d. arotation 907 counterclockwise

4) Theliney=2/3 x +9is dilated by a scale factor of 1/3 and centered at the origin. Write
the equation of the image of the line after the dilation. Y = 2/3 X + 3

5) A wheel has a radius of 18 inches. Which distance, to the nearest inch, does the wheel

27
travel when it rotates through an angle of 3 radians? - z‘ﬂ -
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6) In circle O, the length of radius OB is 5 centimeters and the length of 4B is 5 centimeters.

The measure of £40EB js _
@1 radian
A

2) 7 radians 5

3) greater than 60° ®
4) 60°

7) If,  cos(2x— 1)° = sin(3x + 6)° then the value of x is

N 2x-l +3x4( =90
@17 5x+9 —90
3135 5% =5
471 x= |7

8) Using the diagram below,

a) Determine if BD is an angle bisector of triangle ABC and justify why or why not.
@PS) BD 1s dhe 3 biscctor becous €
BD s the medicw since ADT A ety
CD, T oun i\&osceﬁeg A e goo” H 4o,
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b) Find the measure of ~CBD.  (2pts.)

Y cBD = 56°



9) Sophia finds 10 bricks of gold in the “junkyard”. Lucky Sophia. The dimensions of each brick

are 2.1 cm by 4.7qcm by 4.2 cm, and the density of each brick of gold is 19.32 g/cmé. Sophia

can only carry 48@ kg on her bike. Can she carry the gold home on her bike? s ﬁﬁ'

3 = (4.5 H cm -
V(2 D)9 (¢4,2) = i H9% em”™ » 10 | N
(58 e ) (18,22 g/enwn) = 20082128 g (1001) 2

10) Given AABC with vertices A (—4,—-3), B (0,0), C (2, —3) and ADEF with vertices g kg

D (3,1), E (6,—3), F (3, —5), use the definition of congruence in terms of rigid motion to

show that AABC = ADEF. Describe each rigid motion in terms of coordinates (x, y).

Rotate AABC olooud
Q,{QQ\Q ( Poin+ B\}‘
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11) Construct the orthocenter of the triangle below.
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12) Given: Triangle ABC
Prove: m/ZA + m/_‘lwéc
= 1 g0%,
WAA+MABImMIL:
%o Im,!
su}gﬁ{""} bt 0,

13) Inscribe a hexégéhgina"cnrclé.

14) A shipmate set 3 boat to sail exactly 277 NE from the dock. After traveling 120 miles, the shipmate realized he had
‘)\r

misunderstoed the instructions from the captzin; he was supposed to set sail going directly east!
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How many miles will the shipmate have to trave! directly south before he is directly east of the dock? Round
X & 54 mi,

L

st 27° = 2.
12D

a.
your answer to the nearest mile.

How many extra miles does the shipmate travel by going the wrong direction compared to going directly east?
wes 27%2 Y gz 10T Wi 7 -45Y = 53 mi,
| 2@

b

b.
Round your answer to the nearest mile,
I the diagram below. right triangle RSUis inseribed in cirele O, and UT is the altitude drawn to

X 1s
R S

15)
TS =4
| D

Inpotenuse RS. The length of BT is 16 more than the length of 7S and 70U = 15
=

Find the lencth of TS.

Find. in simplest radical form. the Tength of RU
- L2
228 = xT416x

X—L-LHQX*ZZS“—:O

(x+25)(x-9) =0

RT =25
152425 =c”
¢*= 850
c=\Jsso X =75 x=q

A
Uzs U2Y
RU =50z




